N & 0 & AFESE H MHl A
20239 204 BIIHEL3IH M
£A: Aot=E1t
M i2E 3= =i
el A Ze|(MEAIESEIIN) (CHel: M 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
&Gt 1t 110,891,871 116,063,383 25,171,512
= 32,250,000
= 445,500
== 9,144,109
Al 69,052,262
=22 3= =i 26,513,158 35,143,616 8,630,458
s 445,500
Al 26,067,658
A 2| (ATAIESESIA) 26,513,158 35,143,616 8,630,458
s 445,500
Al 26,067,658
s =3A 970,000 805,000 165,000
401 AIEHIZL 20| 970,000 805,000 165,000
01 AI&HI 970,000 805,000 165,000
mZ 4= SAHH| 970,000,000& 970,000
7 13,274,680 13,056,936 217,744
206 =4I 13,243,680 13,035,936 207,744
01 H=H| 13,243,680 13,035,936 207,744
CIpSEeh 13,243,680,000 13,243,680
301 LESBHZ 1,000 1,000 0
14 J|Et243 1,000 1,000 0
mMESAMDX A2 1,000,000 1,000
802 eret=aJIEt 30,000 20,000 10,000
03 JIEIEHE 2 S 30,000 20,000 10,000
CINIEA= = 30,000,0002 30,000
NLa=E A RE2E 10,620,328 9,254,640 1,365,688
307 SI2t01 & 10,620,328 9,254,640 1,365,688
05 BIZtRIEZ 10,620,328 9,254,640 1,365,688
WX gatC P{EAI]
10,620,328,000& 10,620,328
==719 X 814,150 1,036,040 A221,890
203 ZRF&H| 1,000 1,000 0
03 AIF=XHSFAIY| 1,000 1,000 0
mEHSOAY =& L 26HX A
1,000,000& 1,000
401 AEBIZ 20| 813,150 1,035,040 A221,890
01 AI&HI 810,000 1,030,000 £220,000
=79 SHAS 500,000,000 500,000
maSHiX MY EZ2HUIANY
200,000,000 200,000
mXEAE2Y SSIIAY dUEHESA
50,000, 000& 50,000




LA AotaE 1t
M o2s =2 =i
Cel: Al 2e|(ATAIESEEIH) (Chol: X2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
mE422] ABHESES
30,000,000 30,000
mASHA Ad L E2TA
30,000,000& 30,000
03 AIESCHYI 3,150 5,040 21,890
=79 SHAS 3,150,000 3,150
a5 GIS DB HAIAIS 50,000 50,000 0
401 AEBIZ 20| 50,000 50,000 0
01 Al&HI 50,000 50,000
WA GIS DB AAANY 50,000,0002 50,000
HHIAl =29 FH|ALS 537,000 6,953,000 6,416,000
= 322,000
Al 215,000
403 REXISMISK=0]H 537,000 6,953,000 A6,416,000
= 322,000
Al 215,000
02 S| 2S0ICHEHAHEE 2 EF AL I 537,000 6,953,000 A6,416,000
w222 FHIA 537,000,000 537,000
= 322,000
Al 215,000
OIEEXIZA=C XA 247,000 0 247,000
= 123,500
Al 123,500
403 XX SHMSAHE01H 247,000 0 247,000
s 123,500
Al 123,500
02 2| 2SOITHEIRHE R SIS A ] 247,000 0 247,000
mADFEXISHA S X2 A
247,000,000 247,000
= 123,500
Al 123,500
ot MH 75,753,319 74,108,246 1,645,073
= 32,250,000
= 9,144,109
Al 34,359,210
B0 2H (ol AIHSYES H) 75,753,319 74,108,246 1,645,073
= 32,250,000
= 9,144,109
Al 34,359,210
330ot+=E FH| 7,615,000 6,055,000 1,560,000
301 et Z 5,000 5,000 0
11 HALRHIXIRA S 5,000 5,000 0
mot=X2IAIE 2t &AL AYIXIE
5,000,000& 5,000




2 Aote=E
M ST #H
£l NS 2 (ST AESESIA) (CHol: &2l
2A - 3 - H(SH) - MRAY - BAS Of] &K %E% Hws2
401 AIEHIZ 20 7,610,000 6,050,000 1,560,000
01 Al&d] 7,599,000 6,041,000 1,558,000
w30t &l 7,599,000
OAl&H| 7,599,000, 000 7,599,000
03 A& =20HY| 11,000 9,000 2,000
w3 ISot=S EH| 11,000
OAIE 20| 11,000,000 11,000
ASHE BIoIEXCIAE SEAY 19,682,000 5,680,900 14,001,100
= 9,193,000
& 4,594,500
Al 5,894,500
401 Al &HIZL 20| 19,682,000 5,680,900 14,001, 100
= 9,193,000
& 4,594,500
Al 5,894,500
01 Al&H| 19,481,700 5,180,600 14,301,100
WESE B30t SEAY
19,481,700,000€ 19,481,700
= 9,092,790
& 4,544,455
Al 5,844,455
02 2eldl 200,000 500,000 A300,000
WESE S3ot-HelAld SEAY 200,000
oZelbl 200,000,000 200,000
= 100,000
& 50,000
Al 50,000
03 Al E20HYI 300 300 0
mAESE B30tXelAld SEAY 300
OAILLTHY] 300,000 300
= 210
[ 45
Al 45
HHEY B36taHMlAlE SEAI(3EHH) 12,583,461 20,506,800 27,923,339
= 1,702,000
& 850,751
Al 10,030,710
401 Al &HIZL 20| 12,583,461 20,506,800 A7,923,339
= 1,702,000
& 850,751
Al 10,030,710
01 Al&H| 11,209, 461 18,697,800 A7,488,339




2A:
X{XH -
o /e

cH):

o]

> ol 0x
i

05 H1 4>
o I
e

0
0

0z
S
e
H0

(ot AL EY

A)

o

HEE

SN B SL(3) - MRAY - BES Ol Gl o {TmE=T}
WAHNSY S0t elAE XA (3
AH) 11,209,461,000& 11,209,461
= 1,359,000
== 681,251
Al 9,169,210
02 Zeldl 1,364,000 1,800,000 436,000
WAHNEY SE0t+=HelAE XA (3
Al 1,364,000
oZeltl 1,364,000,000 1,364,000
= 336,000
== 168,000
Al 860,000
03 A& 10,000 9,000 1,000
EHHEY S36t=HelAlE XA (3
A 10,000
OAIE 2| 10,000,000 10,000
= 7,000
== 1,500
Al 1,500
& - AYOE St=XelAlE X1 A 1,325,000 258,000 1,067,000
= 680,000
== 145,000
Al 500,000
401 AEHIZL O] 1,325,000 258,000 1,067,000
= 680,000
== 145,000
Al 500,000
01 AI&HI 1,025,000 220,000 805,000
W& - A0S S3otXelAld ZXIA
& 1,025,000,0002 1,025,000
= 470,000
== 100,000
Al 455,000
02 Zeldl 300,000 38,000 262,000
WA - HYOIE S3otHelAld XA
& 300,000,000 300,000
= 210,000
== 45,000
Al 45,000
HHZL Sh=2H HUIAF(2CHA]) 4,905,000 3,352,000 1,553,000
= 3,434,000
== 735,000
Al 736,000
401 AlEHIZL 20| 4,905,000 3,352,000 1,553,000




SA: Ao
A 5
el X

HEE

A - B SRA(SIH) - HRAY - BES il ko8 G HlnE2
= 3,434,000
< 735,000
Al 736,000
01 Al 4,334,600 2,848,000 1,486,600
EHHIELL B2 HHIAIRI(2EH)
4,334,600, 00024 4,334,600
= 3,033,720
< 649,940
Al 650,940
02 22| 570,000 500,000 70,000
EHHIEL B4 HHIAIRI(2EH)
570,000,002 570,000
= 400,000
< 85,000
Al 85,000
03 Al CHH| 400 4,000 3,600
EHHIELL B0 HHIAIR(2EH)
400,000%! 400
= 280
< 60
Al 60
SIEN ZZolaRNE SAA 5,460,858 4,610,546 850,312
= 3,577,000
< 766,858
Al 1,117,000
401 AIEBIL= TG 5,460,858 4,610,546 850,312
= 3,577,000
< 766,858
Al 1,117,000
01 Al 5,460,858 4,307,000 1,153,858
WoHE S BIotHEIAIL SEAY
5,460,858, 00024 5,460,858
= 3,577,000
< 766,858
Al 1,117,000
A0S SEHeINE SRl 4,180,000 785,000 3,39, 000
= 2,716,000
< 582,000
Al 882,000
401 AIEBIL= TR 4,180,000 785,000 3,39, 000
= 2,716,000
= 582,000
Al 882,000
01 Al 3,480,000 700,000 2,780,000




2AM:
X{XH -
o /e

cH):

AStE I
T
NBI Y 2 (GHEEARISEsI)

S B SRI(BH) - HRAY - BAS

D

— T

PIE]=>
e

mAEORS

02 Zteltl
mAEORS

O©Zclt

S33tHelAlE EXIAY

3,480,000,000&

S33tHelAlE EXIAY

700,000,000

Mo

=

hoH

=

3,480,000
2,226,000
477,000
777,000
700,000
700,000
700,000
490,000
105,000
105,000

85,000

615,000

OIS ot=XelAlE EXIAY

hoH

=

2,954,000
200,000
42,000
2,712,000

513,000

2,441,000

401 AIZHIZL 200

Mo

2,954,000
200,000
42,000
2,712,000

513,000

2,441,000

01 AlZHI
mE20t=

02 Zeldl
mAF0I2
2214

S33tHelAlE EXIAY

2,754,000,000&

S33tHelAlE EXIAY

200,000,000

Mo

2,754,000

2,754,000
200,000
42,000
2,512,000
200,000
200,000
200,000

459,000

54,000

2,295,000

146,000

M

=
_l_

Ot S3ot=XalAlE XA

hoH

=

143,000
100,000
21,000
22,000

135,000

8,000

401 AIZHIZL 200

hoH

143,000
100,000
21,000
22,000

135,000

8,000

01 Al&H]

mEE0E

S33tHelAlE EXIAY

143,000, 000&

hoH

143,000

143,000
100,000
21,000
22,000

135,000

8,000

A

6,476,000
4,533,000

1,765,000

4,711,000




2AM:
X{XH -
o /e

cH):

AStE I
T
NBI Y 2 (GHEEARISEsI)

HEE

2A - HH . H(SH) - MRAIY - BES Ol AtK Ol Aton Hns2t
Al 1,943,000
401 AlEH| 22 OHH 6,476,000 1,765,000 4,711,000
= 4,533,000
Al 1,943,000
01 Al&H] 5,898,000 1,562,000 4,336,000
WX SR SE2LIXS 220
AL 5,898,000,0002! 5,898,000
= 4,130,900
Al 1,767,100
02 Zteld] 575,000 200,000 375,000
WX SR SH22INS 220
A 575,000,000& 575,000
= 400,000
Al 175,000
03 AlZSTHHI 3,000 3,000 0
WX SR SE2LIXS 220
A 3,000,000 3,000
= 2,100
Al 900
DE(HS)02 2 A S2HHEIAIE ZXIAR( 1,200,000 1,469,000 A\269,000
FDA)
= 190,000
[ 40,000
Al 970,000
401 AlEHI 22 0HH 1,200,000 1,469,000 A269,000
= 190,000
[ 40,000
Al 970,000
01 Al&H] 1,200,000 1,347,000 147,000
EWOS(HS)02 2 344 staHlAle &
XAt (FDA) 1,200,000, 0002 1,200,000
= 190,000
[ 40,000
Al 970,000
HR(S2)0I2 2 1A B23tH2IAE ERIAF( 676,000 2,152,000 1,476,000
FDA)
= 473,000
[ 101,000
Al 102,000
401 AlEHI L2 0HH 676,000 2,152,000 1,476,000
= 473,000
[ 101,000
Al 102,000
01 Al&H] 576,000 2,000,000 1,424,000




2AM:
X{XH -
o /e

cH):

PIE]=>
e

=)0t2 2 DHA S
)

t=XelAld &

576,000,000&

WER(S2)0t2 2 1A oteHMelAld &

100,000, 000&

Mo

hoH

=

576,000
403,000
86,000
87,000
100,000

100,000
100,000
70,000
15,000
15,000

152,000

252,000

KT B3ot=HelAlE EXIAY

hoH

=

143,000
100,000
21,000
22,000

182,000

/39,000

401 AIZHIZL 200

hoH

143,000
100,000
21,000
22,000

182,000

239,000

=
mXAE S36tr=HelAlE EXIAY

143,000, 000&

Mo

=

143,000

143,000
100,000
21,000
22,000

182,000

239,000

AIEDS S30teXalAE SEA

A
=

Mo

=

571,000
400,000
85,000
86,000

1,279,000

A708,000

401 AIZHIZL 200

Mo

571,000
400,000
85,000
86,000

1,279,000

A708,000

01 AlZHI

mAIEOE SS3ot=MelAlE

o
=5

(w]
> o
1]
=)
ulo

S30t==XlclAlE

471,000,000&

100,000, 000&

A

471,000

471,000
330,000
70,000
71,000
100,000

100,000
70,000

1,219,000

60,000

AT748,000

40,000




FAM: Aot
Hm: oaT #E
gel: NeB)1Y 2H(Sh=ZAISESI) (Chol: ®i2)
2N - ZH - HA(SH) - MRAY - BES Ol &toH %Ei Hns
L= 15,000
Al 15,000
ASSH Bt ZHIAFE (2EHH) 215,000 1,135,000 2920,000
= 150,000
L= 32,000
Al 33,000
401 AlEHIZL 08I 215,000 1,135,000 2920,000
= 150,000
& 32,000
Al 33,000
01 AlIEH| 215,000 1,135,000 A920,000
WAISS Gh=201 ZHIAR(2EH3)
215,000,000& 215,000
= 150,000
& 32,000
Al 33,000
HHMIAI St==d Xl AZAIE EXIAMY 1,180,000 12,852,000 211,672,000
= 826,000
& 177,000
Al 177,000
401 AlEHIZL 048I 1,180,000 12,852,000 211,672,000
= 826,000
& 177,000
Al 177,000
01 AlEH| 1,080,000 12,052,000 210,972,000
WOARIAl StsSH Al HEAIE AXIALS
1,080,000, 000& 1,080,000
= 756,000
& 162,000
Al 162,000
02 Zeldl 100,000 800,000 A700,000
WOARIAl StsSH Al HEAIE AXIALS
100,000, 000& 100,000
= 70,000
& 15,000
Al 15,000
HEOES S3ot=sHelAld EXIAE 275,000 896,000 A621,000
= 192,000
& 41,000
Al 42,000
401 AlEHIZL 048I 275,000 896,000 A621,000
= 192,000
L= 41,000
Al 42,000




2AM:
X{XH -
o /e

cH):

AStE I
T
NBI Y 2 (GHEEARISEsI)

HEE

S B SRI(BH) - HRAY - BAS ol &k e lmE=]
01 Al&HI 275,000 896,000 2621,000
mEE0IE SSotrxelAlE EXAY
275,000,000& 275,000
= 192,000
L= 41,000
Al 42,000
AHIOIS S306t=HelAlE EXIAY 405,000 685,000 280,000
= 284,000
L= 60,000
Al 61,000
401 AlEHIZL 08I 405,000 685,000 280,000
= 284,000
= 60,000
Al 61,000
01 Al&HI 405,000 580,000 A175,000
mAIHOIS S306t=XelAlE XA
405,000,000 405,000
= 284,000
= 60,000
Al 61,000
HXI0E S3otrHelAld XA 143,000 186,000 243,000
= 100,000
= 21,000
Al 22,000
401 AlEHIZL 048I 143,000 186,000 243,000
= 100,000
= 21,000
Al 22,000
01 Al&HI 143,000 186,000 243,000
mEXI0IS S306t=XelAlE XA
143,000, 000& 143,000
= 100,000
L= 21,000
Al 22,000
CHAHIOIS B30t=r=HelAlE XA 2,100,000 402,000 1,698,000
= 1,118,000
L= 239,000
Al 743,000
401 AlEHIZL 08I 2,100,000 402,000 1,698,000
= 1,118,000
L= 239,000
Al 743,000
01 Al&HI 1,800,000 351,000 1,449,000




2AM:
X{XH -
o /e

cH):

AStE I
T
NBI Y 2 (GHEEARISEsI)

HEE

SA - FHH . O(32) - HRAY - BES Ofl Aot Ol abod GImE=ST;
@CHAHIOIS E36t=XelAlE XA
1,800,000, 000& 1,800,000
= 908,000
== 194,000
Al 693,000
02 22yl 300,000 51,000 249,000
@CHAHIOIS E36t=XelAlE XA
300,000, 000& 300,000
= 210,000
== 45,000
Al 45,000
2E0S S3otrHMelAld XA 1,310,000 429,000 881,000
= 917,000
== 196,000
Al 197,000
401 Al EHIZL LY 1,310,000 429,000 881,000
= 917,000
< 196,000
Al 197,000
01 Al&H| 1,310,000 429,000 881,000
W2E0tS S3otl=sXelAld EXIAIE
1,310,000,000& 1,310,000
= 917,000
< 196,000
Al 197,000
THIEL SIS0 elAlE EXIAY 500,000 0 500,000
= 300,000
< 100,000
Al 100,000
401 AIEBIZL S008I 500,000 0 500,000
= 300,000
< 100,000
Al 100,000
01 Al&H| 500,000 0 500,000
WZEEOE 2 1L SSot=HelAlE &
XA 500,000,000 500,000
= 300,000
< 100,000
Al 100,000
E20tS S30ot==XelAlE8 EXIAE 192,000 300,000 108,000
= 135,000
< 28,000
Al 29,000
401 AIEBIZL S008I 192,000 300,000 108,000




SN A
3 otk ¢l
cel: XYSI1Y 29 (ct=CAIASE3!) (Chol: X2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 135,000
= 28,000
Al 29,000
01 Al&H] 192,000 300,000 108,000
mES0ts S3ote=XclAlE XA
192,000,000 192,000
= 135,000
= 28,000
Al 29,000
S0t SSot=clAE EXIA 500,000 0 500,000
= 300,000
= 100,000
Al 100,000
401 AIZHIZ 20| 500,000 0 500,000
= 300,000
& 100,000
Al 100,000
01 Al2HI 500,000 0 500,000
W SSoteXclAlE XA
500,000, 0002 500,000
= 300,000
& 100,000
Al 100,000
- S3A7 SE2elNY Z0ZAr 186,000 715,000 /529,000
= 130,000
Al 56,000
401 AIZHIZ 20| 186,000 715,000 /529,000
= 130,000
Al 56,000
01 Al&H] 186,000 615,000 A429,000
mEE. S=X7 SE2SXS S=0SAHE
186,000,000& 186,000
= 130,000
Al 56,000
YRLLOIS S3ot=HlAlE EXIAE 833,000 0 833,000
= 500,000
& 166,000
Al 167,000
401 AIZHIZL S0 833,000 0 833,000
= 500,000
& 166,000
Al 167,000
01 Al2Hl 833,000 0 833,000




2A: AotE0t
M o=k #H
©el: Xg30|1Y 2 (ot A SESIH) (S| : &S
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
mx - Bt BI5IHAIE SEA
833,000, 000& 833,000
= 500,000
[ 166,000
Al 167,000
S 2AAH|(ASt+=Z D) 5,546,694 4,510,341 1,036,353
I 2HH| (S-S AIE S ESIA) 3,663,175 3,502,756 160,419
ol FH| 3,663,175 3,502,756 160,419
101 @I244| 3,442,005 3,327,149 114,856
01 = 2,731,542 2,616,686 114,856
mo|=2= 1,754,256,000 1,754,256
w=g 668,440,000& 668,440
W K Z A 70,560,000 70,560
WEEZOH| 175,425,000& 175,425
(W HADIHZ A 62,861,0002 62,861
03 SRA(RINHL) 22 RE S 710,463 710,463 0
(WAt 2015 710,463,000 710,463
204 2R AH| 123,660 78,780 44,880
02 222 123,660 78,780 44,880
OEEEEST] 123,660,0002! 123,660
304 HASRE3S 97,510 96,827 683
02 FAHLEEHZ 97,510 96,827 683
W20IAHAEEHS 97,510,0002 97,510
Jl2dul (ot AISYE 3 H) 966,824 201,906 764,918
J|12&| 966,824 201,906 764,918
201 et 3| 877,384 103,386 773,998
01 AtR2elt] 718,384 75,486 642,898
(WL E~ZH| 718,384,000 718,384
02 2322 H| 159,000 27,900 131,100
m2 S22 159,000, 0002 159,000
202 04l 66,720 76,800 210,080
01 2LHodHI 66,720 76,800 210,080
Wot=EAIY HRFX 65,520,0002 65,520
WM ZRE D=0H] 1,200,000 1,200
203 JFF=&H| 6,520 5,520 1,000
03 AIBFRHRFAIH| 1,000 0 1,000
WA| B F=EHRFEIH| 1,000,000 1,000
04 RN2EHRFHI 5,520 5,520 0
WEA2ZE HRFA 5,520,000 5,520
204 2R AH| 1,200 1,200
01 HMSHR=HZH| 1,200 1,200 0
W53 () 1,200,000 1,200




2A: AotE0t
A HH2HAH|(ASt=E 1)
£l JI=ZHI(Sl=CAIYSE3I) (Ctol: X 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
802 Btz DIEL 15,000 15,000
03 JIEtEtEt= S 15,000 15,000
mEz SS(OIEeE=3S)
15,000,000& 15,000
lA2HH| (AT AIHSESH 780,968 679,102 101,866
oA FH| 780,968 679,102 101,866
101 @I244| 611,837 548,664 63,173
01 = 611,837 548,664 63,173
WEAE S 611,837,000 611,837
203 JFF=&H| 4,200 4,200 0
04 EA2IHRFEHI 4,200 4,200 0
mEA2E YR8 4,200
O& R 2521015t 4,200,000 4,200
204 2R AH| 33,360 29,700 3,660
01 MM HR=HZH| 1,200 1,200 0
W& (52) 1,200,000& 1,200
02 Mg x| 17,760 16,020 1,740
CIRSF=gE] 17,760,000 17,760
03 EEHREHI 14,400 12,480 1,920
mEFHF+H 14,400,0002 14,400
304 HSRE3S 131,571 96,538 35,033
01 A=RE3 103,739 75,432 28,307
wASEEZ 103,739,000 103,739
02 FAHLEEHZ 27,832 21,106 6,726
wAAEBEHZ 27.,832,0002 27,832
Jledul (AT AISYE3H) 135,727 126,577 9,150
J|12&| 135,727 126,577 9,150
201 et 3| 115,187 104,177 11,010
01 AtR2elt] 102,987 R, 427 10,560
(WL E~ZH| 91,587,0002! 91,587
WG 840,00024 840
L=l 10,560,000& 10,560
02 2224l 12,200 11,750 450
w3523 2 HAl 6,200,000 6,200
(W] XS B 6,000,000 6,000
202 (441 17,040 17,400 A360
01 SLHOIYI 17,040 17,400 A360
LIl 17,040,000& 17,040
405 KHAHFESHI 3,500 5,000 21,500
01 At ESEH S 3,500 5,000 21,500
WAIRA HIS 3,500,000 3,500
ollglbl (=S Ar) 800,000 800,000 0




LA AotaE 1t
Mz olg(d| (6 =T AIH)
Sl OllbIBI (ST ALY (ST AIS SESIH) (Crol: ®2l)
2A - HH . H(SH) - MRAIY - BES Of] &K %Ei Hws2
OiHIEI (Bt AL ) (Bl=SAFH SESIA) 800,000 800,000 0
olulbl (Bt ALY) 800,000 800,000 0
801 olldIb| 800,000 800,000 0
1 Brollblbl 800,000 800,000 0
w0l 800,000, 000! 800,000
olulbl (A= AM) 100,000 100,000 0
OllEl (A=A ) (A=SAIESE 3 H) 100,000 100,000 0
ollglbl (At AMY) 100,000 100,000 0
801 tilbId| 100,000 100,000 0
1 Brollblbl 100,000 100,000 0
LI s1]s] 100,000,000 100,000
MRES(ACSHESIH) 1,968,700 1,149,180 819,520
BEXE(A+TAIY SEIH) (AT AIESESIA) 1,968,700 1,149,180 819,520
XL 2els At 1,968,700 1,149,180 819,520
311 XS0l Attt 655,900 131,180 524,720
03 SLEEXLS0I Attt 655,900 131,180 524,720
mXI AT AIY IE2Y X2 0IRHAtE
(5%) 655,900, 000& 655,900
601 Xt Zas 1,312,800 1,018,000 294,800
03 SLEIXAZIAZ &S 1,312,800 1,018,000 294,800
mXIZASTAIY ERE Xl *34E
1,312,800, 000& 1,312,800
MNWFES (ol AIHSESIH) 210,000 252,000 A42,000
BAXNNE (ST AILESESH ) (St=ZAIASESIHA) 210,000 252,000 242,000
X Jel2d & 210,000 252,000 242,000
311 X S0IAtakst 210,000 252,000 242,000
03 SYEHEXUS0IAtatet 210,000 252,000 242,000
EAHNSLS3ote=HelAE SEAY Rt
=2 0| XtatEH(2E D1XIBE ALSH)
210,000, 000& 210,000




Nl = 0l &b A N A
2023 E E0lar ZBIIASEEIH HA
SN B2t
o 52
CHol: BBBIERIRIAE S (SHCAIISESIH) (Crol: ®21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
e 18,248, 161 15,758,232 2,489,929
SRS 18,248, 161 15,758,232 2,489,929
SR L2 (G- AL S EE) 18,248, 161 15,758,232 2,489,929
TN 2F 18,248, 161 15,758,232 2,489,929
101 124 37,39 35,122 2,217
04 JRIHNZEXS 24 37,39 35,122 2,217
mok==H2lAlE MIEEY 12,953,0002! 12,953
WRKIH AR GHR2IAL G2
201 & SHF| 24,446,000 24,446
201 2ek2 | 9,731,475 9,315,604 415,871
01 Al 22 541,488 861,254 /319,766
OCESSEINERETE ==
541,488,0008! 541,488
02 B2 9,189,987 8,454,350 735,637
EotEHEIAL 2S(HIIRS, AILEHIR
Xl S) 9, 189,987,000 9,189,987
203 Y2 FZH| 2,000 2,500 A500
03 A FTI LA 2,000 2,500 A500
WEQEX ARYEE U QIRGHA
2,000,0008! 2,000
206 W24 4,374,700 562,490 3,792,210
01 M2t 4,374,700 562,490 3,792,210
WatR2IAE 29 HE 7Y
4,374,700,0008! 4,374,700
307 RI2F0IA 3,087,480 3,020,520 66,960
05 DIZHRE3 3,087,480 3,020,520 66,960
Wtk KHEst @ BBET2IAIL
S gsedy 3,087,480,0002 3,087,480
401 AEHIZL =0 905,857 1,960,276 1,054,419
01 AI&H| 900,582 1,955,001 A1,054,419
WSt R2IAlE HEANY
900,582,0008! 900,582
03 Al 2204 5,275 5,275 0
WSt 2IAlE JHEALY 5,275
OAIE2 Y| 5,275,000 5,275
405 XH6HEI S| 109,250 796,600 /687,350
01 AL SEH SH 109,250 796,600 /687,350
W2 Y RE S 109,250,000 109,250




